09.02.21 Fluency ANSWERS
Fact of the day 50+2= 25

a. Which is shorter?

50cm 50mm 50m

b. A bag of chips cost £2.70. How much change will you get from two £2
coins?

£1.30

c. There are 40 tomatoes in a greenhouse. % of the tomatoes are taken to
market. How many are left in the greenhouse?

% of 40 is 10 ( 40 divided by 4) so % is 10x3=30 There would be 10 left

40

d. Make 75p in two different ways. Draw the coins you would use:
There are lots of answers here:

For example: 50p+20p +5p or 10p + 20p+20p+20p+2p+2p+1p



